N7 EREE

HA10VSO/32 RIEBHER
Variable Displacement Pump HA10VSO/32

#1#% Size 45~180 27| series 32

#1E £ 1 Nominal pressure 280bar

I&{& [E 77 Peak pressure 350bar

Fl#X 4 E4EER Swash plate design axial variable piston pump

B3% Contents

—. BISi5%HB Ordering Code......couevivivereeeeeiereiienerees s D2
Z. BT Hydraulic FIUIG..........cccoeeiieiecesicicsieseseesesesessessessessenneens 53
=, EESH PArameter........ocoeeeeeeeeeeeeeeeeeeeeeeeee e 5
M, RIEFBEFD Installation NOtes.........cccviveveeceerieiiereiensinenennn. 54
T, FEHIATN CONtroller.......cooeeieeeeeeee e 55-56
7N, RIEERE R Mounting DImMension.........c.coeeviiiieneienn 57-66
+. EWIEZ R~ Dimensions Through Drive ......c.ccccocccuceence. 67-72

4% 5 Features

1, BTAAEEAREHEEER,

Swash plate design axial variable piston pump used in open circuit.

2, MBI TERFERNAE, FTETETHEMALATHER,

The flow is directly proportional to the drive rotate speed and the displacement, and can make stepless
variable come true by dajusting the obliquity of the swash plate.

3. RBE. BYE. BAUREKE. K&K,

Low noise level, high efficiency, high reliability and long service life.

4, RRERHE,

Excellent oil absorbency.

5. REhEERZHMETE R A

Axial and radial loading of drive shaft possible.

6. BENSM. BRSENRFEENEERA TR,

Highly resistant against cavitation, sudden drop in suction pressure and housing pressure spikes.
7. ATHEHEN, BTSRMEAES,

The drive option for multi—circuit system.



o= AT £%

HA10VSO/32 RIMMHEETER

HA10VSO | O [45 [DR] / | 32 V| P| B [220|B2
RES: TRF,; HEEN
Model: Variable pump; swashplate design
BEES 280bar FHMEAD, BRRGDN, FHRRE
Rated pressure 280bar #, AHERSEE, HERASNPE
E{EES 350bar Without through drive, with through drive shaft,] = | A [ A | & | - f99
Peak pressure 350bar without shaft coupler, without adapter with
cover properly closed
' D
Ny , %, (
BT ﬁ. FRE FHEAEE) o leilallllee ]
Mode of operation: pump,circuit — Without through drive, with through drive shafl, 0
without shaft coupler, without adapter flange with
cover properly closed ( for new applications)
IR 45, 71, 100, 140, 180(mlr) %%lsosme-z ang];_:somw-z HS%BARE  Coupler for splined shaft
b - . kY . lameter
Displacement 45, 71, 100, 140, 180(ml/r) 1S0 80,2 34 in 11T 16/32 DP elefoe]o|B2
SO 1002 i 7/8 m 3T 16132 DP e|e |0 || 0 [B3
Tin 5T 16732 DP elel O e | O [B4
| 1S0 1254 848 1 in I5T 1632 DP. e|e| 0| e o]kl
L 1501604 11/AmMT1224DP__| - |80 [ e | 0 g
2 ’ 1=
Controller 45 71 100 140 180 BOUSEE e IRHD oS8l e o
ARESRES slalslsls |ne &2 150 3019-17 Flange 1S0 3019-17
Two point control directly controlled 82-2(A) ;:;ging]’ 16/32 DP e e8| O e | O [0l
Eh#ES in 11T 16732 P, e |e|o[® [0 [32
Pressure controlled b 5] Pl o e 101-2(6) 7% in 13T 1632 DP e|eloe][o [
& 13T 16,32 DP 0
PRERRES i}*E o|efo|e| 0 |Dre 240 ST sTeloTelolm
“‘llhﬂowmlmhhydmuhcﬁ% 127-20) /4 in 14T 1224 DP — el ol el o]l
X-T closed ofefo|e] O |ngs 110 11T 1204 P —[—[o[e[0o
127-4(C) 1 12in 17T 1224 DP -|-1lo]e]| o [e]
WiERENE BE |o|le|lo|el|olome 1.3/4in 13T §16 DP -[-T-Telo]17
with pressure control, remotely operated  hydraulic
hEEH i
Power control with pressure cut off TiEEmmO Ports for service lines
ZE50 bar
10 50 bar o(e]|O|e| 0 jiasp gggggggu SAE %, AsIERAA
ﬁ%ﬂ]}ﬁ?{ﬁ_ N HI51 290 bar o|®| 0| e| Ol SAE-flange on top and at the bottom , opposite sides, e[| ®|© o
Control begin psi  from 51 to 90 bar e ikt !
gin p: 1% 160 bar UFN fixing thread, with universal through drive
91to 160 bar sf[e]O]*]° um | gggggggu&wié, HelmERI
:ﬁ fgﬁg E:; *1*(Of*]0° | SAE-flange on top and at the bottom , opposite sides, B | G 2 | g
_ﬁﬁ 320 bar Inch fixing thread, with universal through drive
over 240 bar *lef{°f[*]° jum .
wENE ERE O TS0 )=y | [ R4%Z Mounting flange
with pressure cut of remotely operated LADG 1S0 3019-2, 4 &#bolt
BEAVE, RREH, XTXH |4 lelole|o {6308 Drive shaf
with pressure cut off, flow control, X-T closed LADS| & DIN 6885 iR FEish, FiER THEMND
R XTEH Paralll shaft with key 1o 1S 3019-1 (SAE J744), not for troughdve | @ [ ®[ O | * | © | P
: efle|o|e| 0 |uus T
with separate flow control, X-T closed %’-imNSl Bo2Ia #5AEH e|e|O| ]| O |5
Splined shaft standard shafl
— e, BESERNENEE
similar to s| "S"iﬁmﬁﬁthighmnpul e|e|=|=]|=|R
e
@R 2R7
series: 32 series
I — FKM ($#E)  Fluoro-rubber o|e . v
RIERH Clockwise NBR(TH§##A) Perbunan e|e|O| @ P

L %atét  Anti-clockwise

available

o=RI\ERME on request

—= A% not available

Variable displacement Pump HA10VS0/32

A=TFTEATFHHE not for new applications



g =
& oEREE

HENGYUAN HYDRAULIC

&M TH .
The HA10VSO variable displacement pump is suitable for use with
mineral oil.

o T{E45/E 5@  Operating viscosity range

AT HBHBENNENES, RIVEFLAENITERE (&
BN TERET) REEUTERR :

In order to obtain optimum efficiency and service life ,we recom-
mend that the operating viscosity(at operating temperature) be se-
lected from within the range.

Vo= B TAE#5E opt. operating viscosity

16+--36 mm’/s

5ihiEiag (FFmEE) Hx.

Referred to the reservoir temperature(open circuit).

o4 FESEE AYPR I Viscosity limits

Von=10mm*s JERFE7E 90°CiMiB AR AR IER TRAKE
short term at a max. permissible drain of 90°C .

Ve =1000mm*/s %3 fF (84 #5787 short term on cold start

®;5 &S5 B Temperature range (see selection diagram):t=-25 ~ 90°C

3% ;i 89;F B EB I8 Notes on the selection of the hydraulic fluid.
ATEWRMIEREER CAMEREPRETERE (AR
[Eg% ) FNIMEBERIZFE. In order to select the correct fluid | it is
necessary to know the operating temperature in the tank (open loop)
in relation to the ambient temperature. 1RIFIZFAE R, FHBRAE
AR TERESEE A, MR EERENETEE (Vopt#
AFER) . HRWERNAEAMNTEFRPRAEERS
Y. The hydraulic fluid should be selected so that within the
operating temperature range, the operating viscosity lies within the
optimum range (Vopt) (see shaded section of the selection diagram).
We recommend that the higher viscosity range should be chosen in
each case.

oYL E Filtration

MG, TiEREREEEMSY, NWRSFGHIK. A
TREHERTHHERAE, RMANEEEEDHD : NAS
1638.9 425 , 1SO/DIS4406 &Y 18/15 4.

The finer the filtration the better the cleanliness of the pressure fluid
and the longer the life of the axial piston unit.To ensure the function-
ing of the axial piston unit a minimum cleanliness level of: 9 to NAS
1638 18/15 to ISO/DIS 4406 is necessary.

-20° 0° 20° 40° 60° 80° 100°
1000 4———* 1000
609 \\\\\\\\\\\
400 NN N N
¥ I e N
~ 2100 AKX .
i{g 80 \\\\\ \\ N \\ \\
=2z 60 AN N AN N N
= > 40 MNENEY RNAN \\ 36
&
20 7 =
15.‘ - \\ \\ 16
AN W N
AN TA TN TN
10 T T T T > ].0
-25° -10°  10° 30° 50°  70° 90° MM ESEL(T)
Temperature

3 B 5 B

" (Fluid temperature range)



HA10VSO/32 RJlimEETER
Variable displacement Pump HA10VS0/32

il O TEENER il O T/EEAEE
Operating pressure range - inlet Operating pressure range - outlet
HHO (S A) BYEREH M0 (B A) [EA Pressure at port B
Absolute pressure at port S 2 FRE ) Nominal pressure Py------------ 280 bar
111 T —— 0.8 bar WE{EJE 77 Peak pressure P, ------------- 350 bar
Pabs min 140-180 ====-========ss=e= I bar BBRTIEEH (& 10% EHREHD 315 bar
Pabs max 10 bar Applications with intermittent operating pressures up to 315 bar at

10% duty are permitted.

SE{Acitt i £ 71 Case drain pressure

im0 (L, L) &SXAFED: &SAIEEH#HBOENS 0.5bar, BAREET 2bar BIBEIEN.
Maximum permissible pressure of leakage fluid (at port L, L,):Maximum 0,5 bar higher than the inlet pressure at port S, but nohigher than 2 bar
absolute pressure.

#E Sizes 45 71 100 140 180
HEft Displacement Vime om’ 45 71 100 140 180
BEFE Max speed - rpm 1800 1800 1800 1800 1800
#in n,, ; 81 128 180 252 324
3 AT B Max. flow - - q L/min
#£ in 1500 r/min 67.5 106.7 150 210 270
= Ein 38 b 70
B ATE (A p=280bar) L - P Kw 58 118 151
Max. power £ in 1500 r/min 31 50 70 98 125
A p=280 .
BAHIE (Ap=280ban) | 4y Tmax Nm 200 317 446 624 802
Max. torque
it Weight m Kg 30 47 69 73 78

S¥EX Z: Parameter relations

_ V.*n® n,
& Flow  q~ :000 [ Umin ]
z ; 159° V, *Ap Vv, *Ap
IREh4E4E  Drive Torque = e _
T 100° 1, 20° 7 " ., [Nm]
T. 2 - T - ‘.&
ENTHE Drive Power p= " _ 4 no_ q,°Ap e
9549 60000 600° n,
V, = S48 /L{THR [cm’] Geometry displacement each rotate n, = RIWE Cubage’ s efficiency
Ap = [EZ [bar] Pressure drop/differential N = #L8 - FEFEHZE Mechanical-Hydraulic efficiency
n = #3& [rpm] Rotary speed n,=8¥FE (n=n, X, Overall efficiency

£ 31 &% P26
viewed on 31 series P26



& ERRE

HENGYUAN HYDRAULIC

HERE ( Circuit drawing )

TEEEH:
EEFEEAERERGRED
HERF1EE. FIURMMAKATR
W, EDWATRREE.

The pressure controller serves to
maintain a constant pressure in a
hydraulic system within the con-
trolrange of the pump.The amount
of hydraulic fluid required by the
system.Pressure may be steplessly
set at the control valve.

TEFriE 4 ( Static characteristic )
T
|
DR :
qv v |
AP Lp=eiin
- ||
T |
Goae| ) ) ) vlss !
] 1 |
| | |
1 | |
| | |
| | |
‘ Lo
|
| wmen
Setting range
[ P(Bar)
Qe L
35 280 ; !
#4HE Controller data :
BEHAERRAALERSY  /min BEPEHL AP maxl bar |
Control fluid consumption max.approx. 3L/min Hysteresis and repeatibillty AP max 3 bar :
3R
DRG : |
qV AP -__] :
q\'m | :
\ | ) L
i b ,_I I
1 | | |
| | | |
| 1 | 1 |
| L | I
1 ! -
| LY A1
Setting| range L :
QW L P(Bar) n
L 20 280 #ERTY AP max 3 bar :
Hysteresis and repeatibility AP max 3 bar |
EHEE Controller data DRC BEERLHEERELRE H20 bar :
BUREERAHERS  4.50./nin The differential pressure at the DRG-control
Control fluid consumption max.approx. 4.5L/min spool is set as standard to 20 bar
DRF/DRS
(DFR/DFR1) with Iﬂl‘
Qy P | Dol
q = =
Vmax % o f 1

Settingﬁ

1 |
q\’lin 1 !

ran#e

P(gar)
35

280
EHEE Controller data
EH AL R A K RORFE73-4. 5L/nin DRSHY3L/min
Control fluid consumption DRF max. approx. 3-4.5L/min
Control fluid consumption DRS max.approx. 3L/min

E£ AP FRRE: 1 bar
Differential pressure AP standard setting: 1

4 bar

TIZEEES):
HERINESEES DR
. i mEE X OIEEE
=Hl; EREAE DRG 28
HIEERE A

Function and equipment as for
DR.

A pressure relief valve can be
connected to port X for remote
control applications;this is not

included in the items supplied
with the DRG control.

EhH /RRES:
MTIEEMTIEES, BT H
B o(n—YimTl) MEEAH
TRARR. RIVENITIMN
PR, *0FR1, BRI
FLIETE.

Function and equipment as for in
addition to the pressure control
function,the pump flow may be
varied by means of a differen-
tial pressure over an orifice or
valvespool.installed in the service
line.The pump flow is equal to the
actual required flow by the actua-
tor.

The DFR1-valve has no connec-
tion between X and the tank.




HA10VSO/32 RlimEEEER
Variable displacement Pump HA10VSO/32

TR LR ( Static characteristic )

EFE ( Circuit drawing )

RS A0 e
Static curves and torque characteristic
TI{EFEH Operating pressure

Piesy
]
] EH/ThEES
[\ 1\ AL HIE NI EE
NAVNES\ o -
200 WIE? Power control with
5 ~ LA
160 \\ \ “M\ \ N presssure cut off
100 \ RN T“ LA7 g
\\""\..
50 """--.,___HH. \‘ I LAG
2 ~ s LAXDG
- FEEEHEER - "T‘E
e il Flow y e A
H14E Torque qv(%) Notincluded | 1
Toum) in supply ! [
| % EH/hE2H
h o || S WE YL, TR
! Power control with presssure
//‘“r\ o cut off remotely operated
LAS
il
/" ™ \ ™~ La7 S L L
4 LAXS
— N
//_ —— FEEELEEN
Notincluded —
LAS nixxvy :_ 1
E A\ H [
0 100 g;t{%;:bw \; i Eﬁh’
% | |RPFEL | REshzes
SRR Controller data: gl i : T FE S0 B
$20000 9 FE o A k4 P 5.5L/min Ma 2T )
Control fluid conmmption max.about 5.5L/min £ : 'ﬁi Constant flow control is possible
e p— T KW [ 1500) mp_ Comeepeeding power \ below the power curve
Code| Control vaues | 45 71 ] 40 180 :
LAS| 1050 66 (0105 [to1d7 | to206 10 26.1 |
1A6| 51-90 |6.6-11.9 |10.5-18.9) 14.7-264) 206-37 | 26.1-47.2 S L+ L
LA7| 91-160 [11.9-20.9{18.9-333| 26.4-46.7) 37-653 | 47.2-B44 LAXDS
LAS| 160-240 |20.9-31.6|33.3-49.8) 46.7-70.2| 65.3-96.3 | 84.4-1266 remenonm | B
49| over 240 over31.ﬁlover49,8|wer?0,2 over98.3 | over 1266 || Notincludea M
in supply ! — —
N ]
y [ [ iy -
HORS S W | \N }_ Eh/w R/ hEES
B TIEE Service line B ! - H#IEAERThEE
S R i Inlet L : ‘ﬁi =y Constant flow control is possible
LL1 | Ffkiftih Case drain(L1 plugged) \ i 7 S B below the power curve.with
X EHES Control presssure } ,}I / pressure cut off
MB | M T{EE Measuring operation pressure :_-:r_lﬁ ir"__
S L




»z BRRE

#1#& Rt 45 ( Unit dimensions,size 45 )
1SO3019-2
S Example HA10VS045XXX/32R-VXB22U99

M10x 1.5 ; 17(deep)

9. 95 _ m22x15; G1/4 ; 12(deep)
6.3 | 14(deep)
i
2 - - o .
(=) —
oo O - ©
0 O - =
o
Q T 1 |
- . @ _ i
16.5_ |_ L1 s
_45
184
2492 24 L
EE RS AR Y
FS Example HA10VSO45XXX/32R-VXB12N0O M=%
9 95 LM2215 5 x Mmiaxi5
H (=]
@ &
@© —!"j:'_g
= L
i ST
-]
S
|
= ===
155 —
45 L1 M22x1.5 ¥
184
224
S e, 1in R {E8EHh, 1in
15T 16/32DP (SAE 1744) 15T 16/32DP  (SAE J744)
ag
16
a0 2 Te|
o) 5 ) 2
Z = ]
:O) 2 ='-—k\-T—'|'5P
o I'n?7 l| a verira
e Y=
ATREEKE 29.5 Lz
30 45.9
45.9

(ZRHFE=M) 187

P

(DIN 6885)

28 g9
@25 i6




HA10VSO0/32 R&FimBETER
Variable displacement Pump HA10VS0/32

& R =T 45 ( Unit dimensions,size 45 )

1ISO3019-1
S Example HA10VSO45XXX/32R-VXD72U99

3/8 ~16UNC-2B; 0.71(18) deep

0.35(9) _ 3.74 (95)_ 75 _1aunr-2p; /.G 1/4; 12 deep 8
0.25 (6.3). _ 0.51(13) deep > 53
] =) =z
> [ S = o
’:: ﬁ a ks g;": oq | / 9132
S8 g > T Qw S / 3
88°9 0O alf ol = Blé
o 5 P, £ @ 3
< = H > 3 @
o 8 j = < =
1 T8 1 3
: 5 o L 2
061 (155) | | '\ 4 s 11 i
177 (45)_ | - | 448 ((nsg}z); j
4 . / . 575(146) _|
L 953(242) | |095(9 | |Lses(eas).  575(46) |
HIE Example HA10VSO45XXX/32R-VXD62N00 S ot g o
counter clockwise
tati
L 7/8-14UNF 22deep rotation
SR G5 / /ﬁ X 7116-20UNF-28
— S T3
—2@TU | ¥ ° 8 g
[:+] |
&=l | T T g 1
S| = [ S
8 iy
8 —
_ = g
C : e =1 *—ﬁ_ﬂii" [;!
P Il 118 o
45 \w\\s (to mounting flange face) 7.36 (30)
184 ' (187)
224
S  Splined shaft 1 in 15T 16/32DP R  Splined shaft 1 in 15T 16/32DP K  Parallel keyed shaft
(SAE J744 - 25-4 (B-B)) (SAE J744 - 25-4 (B-B)) (ISO 3019-1)
167
150 (38) 1.65(42" 88
- 1.54 (39)
0.63 (16) 28 3
2063 (16) o - 8 7 0.63 (16)
0(0.20(5) & 0:20(8) P& o | 00
5 >F[ Z 10 <2 58 e
S - «I e
- 7 = g < | I —
= SR S 3 Z ||
i 116 =
118 Usable spline lenght| (29.5)
(30)
1.81 (45.9) 2.05(52)
1.81 (45.9)




N7 EREE

#1#& R~ 71 ( Unit dimensions,size 71)

1SO3019-2
S Example HA10VSO71XXX/32R-VXB22U99
M22 x 1.5; 14(deep) jm 218 %@
,::_—Xr S == 4
a8 A amr iz M RS
So < 5 ~H g
S falm % T W -
{! | .
N —_— ﬂ s »
5 J L
N s
1 180
53 - Sm 1075 137.3
277 |24 1538
prey=priliEaynd =l
2 Example HA10VSO71XXX/32R-VXB12N00 CE

L M22x1.5 g
B ik XM14x1.5
S -|€Ea =
e 10 o | Ky 1A S ] z ®m o
Q & 8
—= — 3 B
I —3
8]
53 L1 M22x 1.5
217 2
259
s TR, 11/4in, R 7EsEth. 1 1/4in, P Filh
14T 12/24DP  (SAE J744) 14T 12/24DP  (SAE J744) (DIN 6885) 0
475
x 19 @[ —19
O 6
z 6 < W
L ——
© ‘?773 © 4 g c:g e
Sr—twz2A)l of e 8, %=
B }
AIRERIKE 38 E
295 55.4
55.4




M RF 71 ( Unit dimensions,size 71 )

HA10VSO/32 RJlmEELTER
Variable displacement Pump HA10VS0/32

ISO3019-1
IS Example HA10VSO71XXX/32R-VXD72U99
7/8-14 UNF-2B;
0.50(12.7) 4.53(115)  047(12)deep  G1/4; 0.47(12)deep
2 —
S <
S S
Sz - =i
O~ o ©
o . <
o < =
8| B 5 o
o wn = Te]
O~ P
83 3 -
< o \—@E}?*T "
3 on108) 4.51(114.5
20963 5.75 (146)
. , 413(105) | 5.41(137.5)
8.54 (217) 0.47 (12) VafvetmoTntl:g_for 6.06 (154)
counter clockwise
10.91(277) 10.94(24) otation
2 Example HA10VSO71XXX/32R-VXD62N00
L 7/8-14UNF-2B
- 5 X7/16-20UNF-2A
- 2
< *
z - Sre— °D
—_ o
8 = z| 31 SE
N 1
1.03(26.2
13\E L
53 | \L17/8-14UNF-28)|
217
259
S  Splined shaft 1 1/4 in 14T R  Splined shaft 1 1/4 in 14T K  Parallel keyed shaft
12/24DP (SAE J744 - 32-4 (C)) 12/24DP  (SAE J744 - 32-4 (C)) (ISO 3019-1) T
1,87 (425|) 163 (413) |
& __075(9) g B0y oss g |
Qo246 | | O[04l | B 0123 _
® q]m 3 e Srgg 8o — M
& y ol [ | 8| 83| 3! =7
by = el B o .02 7
Lo [ i 1 (e L‘ 3’,.?9,_1 g gl %l LTI |
Usable spline 1.49 (38
1)-66_ s 218 (55.4 L 218 (66.5)
@95 (L = :
218 (55.4)

3.56
(90.5)

4.33|(max. 110) |



N7 EREE

14 Rt 100 ( Unit dimensions,size 100 )

1ISO3019-2
85 Example HA10VSO100XXX/32R-VXB22U99

M14 x 2;19(deep)

M33 x 2:
9 149.5 16(deep) | G 1/4:12(deep)
- i 3
¥ u:'co_: e/ | s
28 © Q =)
gg 8; ]
L ; 1 (T E—
g = T |
8 3 2 3
IS,
—— a8 J
20
2 [ XL S
275 12 18 | 164.9
338 | 22
EEIFR RN
Dfs
HE Example HA10VSO100XXX/32R-VXB12N0O
9 149.5 LM33x2 E/g X M14x1.5
7~
[+ 0]
8| 38
Q
20
= L1 M33x2 s
260
329
S 8, 11/2in, P 4@%h (DIN 6885)
17T 12/24DP  (SAE J744) "o
54 68
Q 28
o 28 15
z 9.5
: [ﬁk‘ 3| 2 i /)h
» li
o1 I i 2
= ' ;, W ] % = 1 b/
435 | |
80
61.9




HA10VSO0/32 RFlsRHET BT
Variable displacement Pump HAT0VS0/32 | g

#M R~ 100 ( Unit dimensions,size 100 )
1SO3019-1
#S Example HA10VSO100XXX/32R-VXD72U99

0.50(12.7) 5.89 (149.5)

11/16-1 2UNF-EB:1 /2-13UNC-2B;0.75(19)deep
0.63(16)deep G 1/4;12 deep
T e T 3
3 — e X S
3 | ' é el 33 ges S
g tze | | g VI 5 2 9
sp WA g588 .
o~ | - o B ™~ G >
2 — |l 3 s g
[ qTs} > H
% | - L7 JI.'}L_ ﬁ L) E J| \@ = o)
0.79 (20) S | 6.36I 161.6
315 (80) L1 7.87 (200)
10.83 (275) 0.47 (12) 4.65 (118) I 6.49 (164.9)
13,31 (338) 10.87 (22) Vel
counter clockwise
rotation

BE Example HA10VSO100XXX/32R-VXD62N00

L 11/16-12UNF-2B

127 1495
=}
2 > 8 E—@ &
o 8 o 8 3
B o @ @ |
0 ©
& 5 g o = \(} l E} B
o0
Q 1.26 (31.8)
p—— =]
o
- L11 1/16-12UNF-2B <
80 ] 2
260
329

S  Splined shaft 1 1/2in 17T 12/24DP K  Parallel keyed shaft (ISO 3019-1)

(SAE J744 - 38-4 (C-C)) 213 (54)
213 (64) 211 (53.6)
@ 110 (28)
8 1.10 (28) 0.06 (1.5)
% 0.37((9.5) l
a1 glol—
5 ﬁﬂ | 85K
2w AR ==
£ gL e
& = = of s
o
171 O3
43.5 <
(43.5) 5 2.44 (61.9)
2.44 (61.9)




N7 EREE

#1# Rt 140 ( Unit dimensions,size 140 )
1SO3019-2
IS Example HA10VSO140XXX/32R-VXB22U99

©@180h8

2180552

g 290
6.4 173 M14x2;
M33x2; 19 (deep) G1/4,12 (deep)
=l
J —
- =
gw/\ ]
=Y =t
12
| 29
B2 Example HA10VSO140XXX/32R-VXB12N00
LM332 B
78 L1 M33x2 s
275
337.5
S {E#iH, 13/4in, P
13T 8/16DP  (SAE J744)
67
m 32
(o]
) 10
2 ‘[ CK!
3l fzl 2
& " g

53

75

max. 110__

110.5

=
ol
Q8
|
131 179.8
EEHAEHEEN
fE % 3E
. ‘D -
RS 88
v N
31.8
it
(DIN 6885) 82
815
36
15
2w K T
Emi=
92




HA10VSO/32 RlimEETER
Variable displacement Pump HA10VS0/32

#1#8 R~ 140 ( Unit dimensions,size 140 )

1ISO3019-1
IS Example HA10VSO140XXX/32R-VXD72U99
0.50 (12.7) 11.42 (290)
0.25 (6.4) 6.81 (173)
N 28, | oesr | G1/4;0.47(12)deep

’é )
i ) B S

. J =
=t
8 i gy _ _ _ .
on| l AIEE
o~ . . o =
oo B )
SO = h o
< re— ® & |
=

0.94 (24 L1 S
3.07 (78),
10.83 (275) 0.47 (12)
13.98 (355) [ 0.87 (22)

BE Example HA10VSO140XXX/32R-VXD62N00

12.7

173

L1 11/16-12UNF-2B

B

)

X 7116-20UNF-2B

@152.4h8

5L
(Cj :

L1 11/16-12UNF-2B
275

337.5

S

Splined shaft 1 3/4 in 13T K
8/16DP (SAE J744 - 44-4 (D))
2.64 (67
@ _126(32)
| 0.39((10)
2 |
3 2222
P2
2.09
(58)

2.95 (75)

)
0'1*\\9:1’
081 (©206) ° s
3
5@ BN\ :
ge Al
S0
~ G =z
o
N4 2 G
6.36 (161.8)
7.87 (200)
516 (131) | 7.08 (179.8)
I|
Valve mounting for
counter clockwise
rotation
F5 [® © =3 &%
S 2 &
g8 |/ 3;;
88 | KNS B TNB
> | D = Y
200 1.25 (31.8)
(50.8)
Parallel keyed shaft
(1ISO 3019-1)
2.64 (67)
|_2.62 (66.5)
= 1.26 (32)
~ 2 _ .l00s(15)
s 19
ol 35
g -:r
R ==
3300 = 2~
]
22 83
1—$1—
e 2.95 (75)




& oEREE

HENGYUAN HYDRAULIC

##& R~ 180 ( Unit dimensions,size 180 )
1SO3019-2
#E5 Example HA10VSO180XXX/32R-VXB22U99

9 300

6.4 173 Nedecs) | G 1/4:12(deep)
i | l—_ ]
] O (]
82 il o= =
= o q
0 ol N
g - 28
S = 33
! B |
24.2 M33 x 2 ;16(deep)
.78 |
285 I L 181 ] 188
[ 365 A1 122 & A R RER A
Rk
31.8
(o]
o I "’h
© 1 :
[s0] - | ©
) mE
GRS
B
S Te#EHh, 13/4in, P FHEHh
13T 8/16DP  (SAE J744) (DIN 6885) 82
&7 81.5
| 36
@ 32 15
A 10|
= o~
= = 1 2| ¢l 7
3 L © | v g I ;%
2 o 9y 3 Z
i }
53 & o
75




HA10VSO/32 RIMMHEELTER

Variable displacement Pump HA10VS0/32

#i#& R~ 180 ( Unit dimensions,size 180 )
1SO3019-1

S Example HA10VSO180XXX/32R-VXD72U99

0.50 (12.7) 11.81 (300)
0.25 (6.4) 6.81 (173) _ o2siaaeen
[ \ff"?’
fﬂ' G 1/4; 0.47(12)deep oS
e | : _
. B o - ©
| I z ‘68 025 s
| n " o 8 - v o
LN TS < 828, <
| _[]8 S 58 | 33
| 2= o =2
| - | i &2 & Sw
== o S < A/ -
0.95 (24.2) @g}%&ﬁmm 6.36 (161.6)
3.07 (78) 7.87 (200)
11.22 (285) 5.16 (131) | 7.40 (188)
14.37 (365) 0.87 (22) i
Valve mounting for
counter clockwise
rotation
€,
o
48
5o S a8
0| < : F~
EiS 185
2 D pVmAI
> - 1.25 (31.8) }MB
(50.8) ’ ’
S  Splined shaft 1 3/4 in 13T K  Parallel keyed shaft
8/16DP (SAE 744 - 44-4 (D)) (ISO 3019-1)
2.64 (67)
2.64 (67) 2.62 (66.5)
-  _.1.26(32)
@| 1202 = = 0.06 (1.5)
O| 0.39/(10) e wlo
=z 7 = Bl
= ol 12
® 11 ﬁq 2| 22 -
ai— A P ==
- r 38188
=2 &Y
2.09 e
[a)
(58) 2.95 (75)
2.95 (75)




& oEBRRE

HENGYUAN HYDRAULIC

|

B2 %2 Flange ISO 3019-2 - 80 2-#2# bolt
LB S 2R 7S ANSI B92.1a-1996. 3/4in 11T 16/32 DP
Coupler for splined shaft to

Pq"é??%% 'r'%ig:{"}éi”z-'ib.é (8%
T M12¢25 A-Bris
BIN 912-10.9(4x) B

G 45..71 Z ;
4

A3

to mounting face (ZELREEZME) A1

(SAE J744 - 16-4 (A-B))

25 )AL A A3 A

45 264 38 15.5 M10x 1.5; 16 deep
71 299 38 15.5 M10x 1.5; 16 deep
100 | 360 38 15.5 M10x 1.5; 16 deep
140 | 377 38 15.5 M10x 1.5; 16 deep
180 | 387 38 156.5 M10 x 1.5; 16 deep

B3 % Flange ISO 3019-2 - 100 2-88#2 bolt
TERHIB S 2B TFS ANSI B92.1a-1996, 7/8in 13T 16/32 DP
Coupler for splined shaft to

M10x25 DIN 912-10.9 (8x)
NG 100.,180 20
. M10x25 A-BTis

DIN 912-10.9(4x) [19
by
88
og
T
(=]
=}
]
-
ot
%
A3
2
to mounting face (ZEZ 3£ 2 M) A1

(SAE J744 - 22-4 (B))

B A A2 A5 As U99

45 264 4 16.5 M12x1.75; 18 deep
7 209 4 165 M12x1.75; 18 deep
100 | 360 41 16.5 M12x 1.75; 18 deep
140 | 377 41 165 M12x1.75; 18 deep
180 | 387 41 165 M12x1.75; 18 deep

B4 £ Flange ISO 3019-2 - 100 2-88#2 bolt

TSR HhIm S 28778 ANSI B92.12-1996, 1in 15T 16/32 DP
Coupler for splined shaft to

M10x25 DIN 912-10.9 (8x) A-B 21%

9

AT i

88

=1~

FF

[=]

=

Q

7_7 —1
%

. A3
L A2 |
Al

(SAE 1744 - 25-4 (B-B))

B% lA As A3 Ay U99

45 |264 459 169 Mi2x175; 18 deep
71 | 299 459 169 Mi2x175; 18 deep
100 |360 459 169 M12x175; 18 deep
140 | 377 459 169 M12x1.75; 18 deep
180 | 387 459 169 Mi2x175; 18 deep




HIEESHRT Di

HA10VSO/32 RJlimEETER
Variable displacement Pump HA10VS0/32

E1 %% Flange I1SO 3019-2 - 125 4-82#% bolt
TERMIB S 2B FF S ANSI B92.1a-1996, 1in 15T 16/32 DP
Coupler for splined shaft to

(SAE J744 - 25-4 (B-B))

M10x25 ]
A > DIN 912-10.9 A-B 22 st | /AT R AT A TRUO0
(8x) NG 100..180 3 45 |264 459 169 MI12x175; 22deep
@’ \/&(4}:) YAl 299 459 16.9 M12x175; 15deep
@@ 100 | 360 459 169 M12x175; 15deep
\ Py 140 | 377 459 16.9 M12x1.75;: 15deep
% @ - 1% 180 | 387 459 169 MI12x175; 22deep
| w3
51 2
=i T =
M12x25
. DIN 912-10.9 A3
114. (4x) NG 45..71 A2
B ->| to mounting face(ZE &3&i% = M) Al
B8 % Flange 1SO 3019-2 - 160 4-88#¢ bolt
RIS IEFTS ANSI BO212a-1996, 1 1/4in 14T 12/24 DP (SAE 744 - 32-4 (C))
Coupler for splined shaft to a
A ugg
M10x25 DIN 912-10.9 Sire ! hs b B
1414 (BING100.180 5 o o 71 |209 554 179  M16x2; 20deep
- i 18y 100 |360 554 1729  M16x2; 20 deep
7 140 (377 554 179 M16x2: 20 deep
| 180 | 387 554 179 M16x2; 20 deep
88
=
|
ol
s
\-M12x25 VA '
DIN 912-10.9 | A3
(4x) NG 71 A2 ]
to mounting face (ERIEEZM) A1

(SAE J744 - 38-4 (C-C))

B9 % Flange ISO 3019-2 - 180 4-82#holt
TESSHIR & 3877 S ANSI B92.1a-1996, 1 1/2in 17T 12/24 DP
Coupler for splined shaft to

A4 (4x
158.4 M102x25 A-B 22
A~ || DIN 912-10.9 (8x) 159
4ING 100..180 il
(09 o) @A
o) e} P
- 99
18 8
i 1S
ke )
L°) ©9 it -

N

DIN 912-10.9 (4x)
NG 71 L

to mounting face (E&# % = M)

sie A1 Ag As A;  U99

100 |[360 619 204 Mi6x2; 20deep
140 (377 619 204 M16x2; 20deep
180 (387 619 204 M16x2; 20deep




g =
& oEREE

HENGYUAN HYDRAULIC

B7 %X Flange 1SO 3019-2 - 180 4-88# bolt
TERHMIB SRS ANSI B9212a-1996, 1 3/4in 13T 8/16 DP
Coupler for splined shaft to

A4 (4x)

(SAE J744 - 44-4 (D))

ik
Size

Ar Ay As As U99

140

377 75 MIBERBEM M16x2; 20 deep
On request

180

387 75 tRIFERIRM M16x2; 20 deep
On request

U0 M16 x 2 ZbFFE NG HISRLL, 22 (iF)

(SAE J744 - 16-4 (A))

1A A A As
45 |264 318 19.3 M10 x 1.5;
16 deep
" 2909 318 193 M10 x 1.5;
16 deep
100 (360 31.8 RWBEKEHE M10x 15,
Onrequest 16 deep
140 | 377 31.8 RIBERZH M10x1.5;
Onrequest 16 deep
180 (387 31.8 #RIFERIZM M10x 1.5;
Onrequest 16 deep

158.4 22
19
83
(=T
+4
o
E
o
A\M12x25 §NL
DIN 912-10.9(4x) a3
NG 71
to mounting face (ERFEEZME) A1
01 &2 Flange ISO 3019-1 - 82-2 (A)
TEREIR A BT S ANSI B921a-1996, 5/8in 9T 16/32 DP
Coupler for splined shaft to
M10x25
DIN 912-10.9 (8x) A-B 22
Al NG 100..180 184
M12x25 75
/DIN 912-10.9 2%
(4x) éé_
NG 45..71 - o
2z %%
| 2 B
3 8
™~ A4 (6x) Q
7
B -
A2
to mounting face (E &3 EZH) Al
52 %5 Flange I1SO 3019-1 - 82-2 (A)
ERIB S 28 FFS ANSI B92.1a-1996, 3/4in 11T 16/32 DP
Coupler for splined shaft to
M10x25
DIN 912-10.9 (8x) A-B22
A NG 100..180 15]
M12x25 3

(SAE J744 - 19-4 (A-B))

B A A A A

45 264 38 17.5 M10 x 1.5; 16 deep
71 299 38 17.5 M10 x 1.5; 16 deep
100 (360 38 17.5 M10x 1.5; 16 deep
140 | 377 38 17.5 M10x 1.5; 16 deep
180 | 387 38 17.5 M10 x 1.5; 16 deep




HA10VSO/32 RIIMEEETER A P!
Variable displacement Pump HA10VSO/32 = A

68 E= Flange SO 3019-1-101-2 (B)

RIS 3RS ANSI B92.1a-1996, 7/8in 13T 16/32 DP (SAE J744 - 22-4 (B))
Coupler for splined shaft to p—
M10x25 see |A1 A As A U99
DIN 912-10.9 (8x) A-B 22 45 264 M 165 M12x1.75; 22 deep
A—- NG 1ooi\.h11a2025 B 71 [209 41 165 M12x175; 22 deep
DINE}12-10_9 100 | 360 41 16.5 M12x1.75; 18 deep
A | (4x) by 140 [377 41 165 M12x175; 18 deep
NG 45..71 v A
. 180 | 387 41 165 M12x1.75; 18 deep
=
+F
©
S
A4 (6x) 5
7
]
) z
Bl A‘LE
2
to mounting face (E %3 iZ =) Al
04 %2 Flange 1SO 3019-1 - 101-2 (B)
e RHIB S B AFE ANSI B9212-1996, 1in 15T 16/32 DP (SAE 1744 - 25-4 (B-B))
Coupler for splined shaft to n | A R Ues
M10x25 size | A1 2 As  Ag
DIN912-10.9 (8x) A-B _21%' 45 264 459 16.9 M12x1.75; 22 deep
NG 100...180 113 7 299 459 16.9 M12x175; 22 deep
100 | 360 45.9 169 M12x1.75; 18 deep
Y 140 |377 459 169 M12x1.75; 18 deep
u o 180 | 387 459 169 M12x1.75; 18 deep
2 |33
©«
4|2
Q
-
_]d
A3
A2,
to mounting face (Z & 3% =) Al

E2 %= Flange ISO 3019-1 - 127-4 (C)
MBS S ANSIB921a-1996, 1in 16T 16/32 DP (SAE J744 - 25-4 (B-B))

Coupler for splined shaft to
88 A A A A U9
M10x25

i e300 AB 22 45 [264 459 169 M12x175; 22deep
(84) NG 100..180 & 71 299 459 169 M12x175; 22deep
A4(4) : 100 [360 459 169 M12x1.75; 22deep
140 [377 459 169 M12x1.75; 15deep
180 [387 459 169 Mi2x1.75; 22deep

114.5
o7 8

i M12x25 %
DIN 912-10.9 A3

(4x) NG T A2
B -p|  tomounting face (ERFEE =) Al




&7 R EE

HENGYUAN HYDRAULIC

15 JE= Flange 1SO 3019-1-127-4 (C)
TERIB S RIS ANSI B92.12-1996,
Coupler for splined shaft to

1 1/4in 14T 12/24 DP

M10x25
DIN 912-10.9 A-B
(8x) NG 100..180

M|

A4 (4x)

114.5

M12x25
DIN 912-10.9

(4x) NG 71 A2

B -bl to mounting face (ERIEEZM)

(SAE J744 - 32-4 (C))

il 20 A2 As  A; U99
71 |299 554 179 Mi2x1.75; 22 deep

100 | 360 55.4 179 M12x1.75; 15 deep

140 [ 377 554 179 M12x1.75; 15 deep

180 {387 554 179 M12x1.75; 22 deep

24 EZ= Flange SO 3019-1 - 127-2 (C)

ERMIBE RIS ANSI B92.12-1996,
Coupler for splined shaft to

1 1/2in 17T 12/24 DP

M10x25
DIN 912-10.9 (8x) A-B

@ NG 100...180

S@

NG 140

A

\“\\\ N

Ad (4x) %

912718:82
136+02

BH /?//
w0

A3

to mounting face (ERHFEE=

A2 NG 100

Al

(SAE J744 - 38-4 (C-C))

BEA A A A
100 | 360 61.9 20.4 M16 x 2; 22 deep

140 | 377 61.9 204 M16x2: 22 deep

180 |387 619 204 Mi16x2; 22 deep

96 %2 Flange SO 3019-1 - 152-4 (D)

ERMIBAEITE ANSI B92.12-1996,
Coupler for splined shaft to

11/2in 17T 12/24 DP

M10x25
161.6 /DIN912-109 (8  p_B
A~ NG 100..180

00 @a

SN_A4 (4%)

161.6

\M12x25
DIN 912-10.9 (4%)

22

[Pha

7]

ey
[=1=

pr

@152.4

A2
Al

NG 71
to mounting face (ERIEEZM)

(SAE J744 - 38-4 (C-C))

BMmla A A A
100 | 360 61.9 204 Mi6x2; 22 deep

140 (377 619 204 M16x2; 22 deep

180 | 387 619 204 M16x2; 22 deep




HA10VSO0/32 R&FimBETER
Variable displacement Pump HA10VS0/32

17 #&Z Flange I1SO 3019-1 - 152-4 (D)
eI SRS ANSI B921a-1996, 1 3/4in 13T 8/16 DP
Coupler for splined shaft to

M10x25 (SAE J744 - 44-4 (D))
161.6 DIN 912-10.9 R 22
A"'i /(8x) NG 100..180 ABT_S‘E B (A A As A4
' /\ 17 140 | 377 75 RIBERRMH M16x2: deep
O@ T @& On request 22

A4 (4x) 180 (387 75 UBBRIME MI6X2: deep
On request 22

161.6
215241993

M12x25
DIN 912-10.9
(4x) NG 71 A2
to mounting face (EZFEEZME) Al

E#fE8) -HA10VSO  Throughdrive |%&#EEHFS 2] Mounting option 2nd pump itk

b Ei- 1t B e T HA10VSO HA10VO SMEEERTR BERST

Flange a8 § A () A% () ok Pn!{f‘;uﬁailable

ISo20102 g;‘}‘i‘r{’;gfshgfﬂ Size(shaft) Size(shaft) éﬁéf&ﬁ%’) L

ISO 80, 248% 83/4in B2 10. 18 &7 Size 71 t0 180

bolt 52/31 (S. R)
ISO 100, 288# 7/8in B3 28 %% 31 (S. R) 71 0180
bolt i B4 455931 (5. R) 71 10 180

ISO 125, 458# 1in bolt E1 45 (S. R) 71 to 180

ISO 160, 4 88# 1 1/4inbolt B8 71 (S. R) 71 to 180

ISO 180, 4 484 1 1/2inbolt B9 100 (S) 100 to 180
13/4in B7 140 (S) 140 to 180

I1SO 3019-1

82-2(A) 5/8 in o1 F (5 to 22) 71 to 180
3/4in 52 10, 18 R % Size 71 to 180

52/31 (S)

101-2(B) 7/8 in 68 28 %% 31 (S. R) N/G (26 to 49) 71 to 180
1in 04 45 %zagl 31(S. R 71 to 180

127-4(C) 1in E2 45(S. R) 45 to 180

127-4(C) 11/4in 15 71 (S) 71 to 180

127-2(C) 11/2in 24 100 (S) PGH 100 to 180

152-4(D) 11/2in 96 100 (S) 100 to 180
13/4in 17 140 (S) 140 to 180




	恒源选型手册2016(1) 54
	恒源选型手册2016(1) 55
	恒源选型手册2016(1) 56
	恒源选型手册2016(1) 57
	恒源选型手册2016(1) 58
	恒源选型手册2016(1) 59
	恒源选型手册2016(1) 60
	恒源选型手册2016(1) 61
	恒源选型手册2016(1) 62
	恒源选型手册2016(1) 63
	恒源选型手册2016(1) 64
	恒源选型手册2016(1) 65
	恒源选型手册2016(1) 66
	恒源选型手册2016(1) 67
	恒源选型手册2016(1) 68
	恒源选型手册2016(1) 69
	恒源选型手册2016(1) 70
	恒源选型手册2016(1) 71
	恒源选型手册2016(1) 72
	恒源选型手册2016(1) 73
	恒源选型手册2016(1) 74
	恒源选型手册2016(1) 75

